MAT1505-65/8 0lS TEST4 Angwers L ’
9 sus! | L 4 ’
®Sr % L ax ‘ES % () =§ RN @ B) oy (e )= S Neusiwnt)

, / ,___3(‘0“»,} uﬁzﬂhw '“"“’\2{3{”“‘“ Voﬁb'(sz't at
32
R (R AR

=3(2073 - (203-89) = -(or2+3(00-19) R
| S I
o osweco=fy] = % (T~ (%)

- Tgay Mgy

faon

-l/240

{

| & x dx = Ilm 2 {(xD ax

L A V, Ty W) 2@ Pt o—— g

S “ N\ = ke d +z§e, % A% -
N=\€ T X

A= A0 g\ T
""’_TI’ K7 % = lim’ i (\,\) l:)
%.:_e:"%” et 3 z h—iw ‘-" .

s s s e ‘6 £ — _l_,_
..\/L "VZ » yt _% E‘K 1]

+C = -Ze, Z(x+z\+c _ =i “2 =l L=

N \,<; n?— Me N

: B e < 1(0))
B g‘ Xe mﬁx- —a7% e"’y¢~~4 \4 e eI = im Ji( \>

-—6e e (6=4) M,a}\t‘v&%{%@ ‘ o

uhevezem7 q\-x 3/ e[h? _ \,,c
N — NS i 1 @ 5= vea

= eannek uge “ynidpsints
- anhdenvahw c,va\uahon o

. ) —& \n\u\+<: le—-;\j—C | (3 V2 24 5 ¢1 ¢ 2 1o ‘
~U
U=2%-3

— h i
g 24)‘;5 in \'L\(—gl \ ]n3 inA, A‘t ;,gm(s d\\l\slons‘\'o ave
%-z e

3 a———)
=1n !

Y+ VE) NG VED weq))w -

u) "V&gfrﬁéa‘s'=‘~"§“‘“\lo‘ s (ETEIRE S o 20T g‘“@ on *)[

gvutos(\‘lot ) dJc S\Io(DS“_l Vo

BT \2 T 120“'
u~ n.orrt

_ vo 3 Vo SN W TN Mty ot il ' acmenbon s i st s v T e B 10 K 1 et £ s .
1 " Yoo ™ € = ey MU (1 “JC) r { | |prtem:
- o

Joodusendt /O — =" € whenuntis arepmportant; just keepthemin ‘
L@. ~dk (Sm(\'LO‘W) s o\ " re calculation |

S\n(go ('m))*o o

SCQmA




